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PART -1
GENERAL STUDIES
Which district of Uttarakhand has the maximum forest area ?
(a) Uttarkashi (b) Pauri Garhwal (c) Nainital (d) Chamoli

Match the Lakes given in List-I with the Location in List-II and find the right answer from
codes given below :

Codes :
A B C D
(a 1 2 3 4
(b) 3 1 2 4
(c) 2 1 3 4
d 4 2 1 3
Which tributary of Alaknanda river has its confluence at Rudraprayag ?
(a) Dhauli Ganga (b) Birahi Ganga (c) Pindar (d) Mandakini
Which Himalayan zone receives highest rain during monsoon period ?
(a)  Shivaliks (b)  Outer Himalaya
(c) Inner Himalaya (d) Equal in the above three
Which soil is most suitable for the cultivation of Tea crop ?
(a) Pasture soil (b) Brown, red and yellow soil
(¢) Sandy soil (d) Light clay alluvial soil
As per the Census 2011, in Uttarakhand district Nainital stands at
(a) 2" place (b) 3" place (c) 4" place (d) 6" place
Which one of the following tribe traded with Tibet, before 1962 China War ?
(a) Raji (b) Boxa (c) Bhotiya (d) Tharu

At which place people of Uttarakhand vowed not to follow the “Coolie Begar”, in January
1921 7

(a) Bageshwar (b) Someshwar (c) Rameswar (d) Pancheswar
‘Koteswara’ — dam is being constructed on the river

(a) Alaknanda  (b) Dhauli Ganga (c) Bhagirathi (d) Birahi Ganga
The first dairy federation of Uttarakhand was established at

(a) Dehradun (b) U.S. Nagar (c) Haridwar (d) Haldwani

In which year the “Uttar Pradesh Zamindari Abolition and Land Reform Act” was passed ?
(a) 1950 AD (b) 1951 AD (c) 1952 AD (d) 1953 AD

In which year the Garhwal Division was established ?

(a) 1964 (b) 1969 (c) 1972 (d) 1982

How many seats are reserved for Scheduled Tribes in Uttarakhand Assembly ?

(a 01 (b) 02 (c) 03 (d) 04

Operation Smile of Uttarakhand police is related to

(a) Children (b) Old person (¢c) Women (d) Transport
‘Mudra Rakshas’, who died in June 2016, is famous as

(a) Theatre Director (b) Classical Singer

(c)  Sanskrit Scholar (d) Hindi Novelist
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Under which article the ‘President Rule’ was imposed in Uttarakhand in the year 2016 ?
(a) 346 (b) 376 (c) 356 (d) 386

Name the harmful chemical used in Bread preparation ?

(a) Ethyle Bromate (b) Potassium Bromate

(c) Calcium Carbonate (d) Methyl Chloride

Which group is known as the first ethnic group of Uttarakhand ?

(a) Kol (b) Kuninda (c) BanRaji (d) Hoona

Where was the first capital of Panwar Rulers ?

(a)  Srinagar (b) Tehri (c) Devalgarh (d) Chandpur Garhi
Who was the editor of the “Garhwali Samachar Patra” ?

(a)  Vishwambhar Datt Chandola (b) Lalita Prasad Naithani

(c) Mukundi Lal (d) Suman

Which freedom fighter is called the Hero of Peshawar episode ?

(a)  Sridev Suman (b) Khan Abdul Gaffar Khan

(c) Chandra Singh Garhwali (d) Jawahar Lal Nehru

In which, among the following years Tehri Kingdom merged with Independent India ?
(a) 1947 (b) 1949 (c) 1950 (d) 1965

Who among the following have been awarded ‘Khel Ratna’ in August 2016, by the
Government of India ?

(a) Rani Rampal, P.V. Sindhu, Sakshi Malik and Shiva Thapa

(b) P.V. Sindhu, Deepa Karmakar, Jeetu Rai and Satti Geeta

(c) Jeetu Rai, Sakshi Malik, P.V. Sindhu and Deepa Karmakar

(d) Shiva Thapa, P.V. Sindhu, Sakshi Malik and Deepa Karmakar

Which among the followings has been included in the list of World Heritage, by
UNESCO in July 2016 ?

(@) Sun Temple of Konark

(b) Sunderban National Park

(c) Sanchi Stupa

(d) Archaeological site of Nalanda Vishwa Vidyalaya

As per 2011 Census, what is the rank of Uttarakhand on the basis of population ?
(a) 29" (b) 20" ) 15" d 10"

Read the following statements (A) and (B) and select the correct answer from the code

given below :

Statement (A) : The sex ratio in the hill districts of Uttarakhand is higher than those in
plains.

Statement (B) : The males from the hill districts migrate in search of employment.

Codes :

(a) Both (A) and (B) are true. (b) Both (A) and (B) are wrong.
(¢) (A)is true, but (B) is wrong. (d) (A)is wrong, but (B) is true.
What was the basis of States’ Reorganisation Act, 1956 ?

(a)  Size of the states (b) Natural resources

(c) Language (d) River water dispute

Who was the first King of the Tehri State ?

(a) Man Shah (b) Sudarshan Shah

(c) Medini Shah (d) Yajuvendra Shah

Kumaun University, Nainital was established in the year
(a) 1975 AD (b) 1978 AD (c) 1973 AD (d) 1971 AD
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AT 2016 H STES H WA I i€ & [ohd ST=% & STad o 7T o1 2
(a) 346 (b) 376 (c) 356 (d) 386

3T (STONIN) W T B ATel BT TWET H1 1 JarEg |
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STV 1 TIH “TAAE T o THT ST € 2

(@) A (b) FiT= (c) TSt d) 7o
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(@) =Fw (b) feadt (c) TeerTE (d) R T
“TigaTedl GRS % TS i & ?

(a) favamR I =_ien (b) TATAAT UETE AATT
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(a) T TEOTer, Ot Ty, Arett viets we ferer e

(b) AT Ty, a7 AR, ST T we Sl

(c) i ¥, |elt afctes, dral, fy ua Srar s

(d) Toram orar, vl Ty, dreft Ofets Te ST ATt

fefefad & 9 foraeht ZAent g1, ST 2016 H fova exie gt | Snfwet foam & 2

(a) IO o1 A HiTT (b) =TT T2

(c) Wl = &[T (d) =T favatemTer H R
2011 3l SFIOMT & SFER STHEET i G T STRIGUS I i 91 WH ¢ 2

(a) 29dT (b)  20dT (c) 15dt (d) 10dT

=1 Tt (A) 3R (B) ot UfeT 3R 1 ST 7 el | ¥ Tel STl T DT
FHUA (A) : STREUE & qad et & fermard S St st qormn & a1 & |
FHUA (B) : TAdE el @ BT ISR ol Teret H JeA@ i & |

C I

(@) (A)TA (B)I T E | (b) (A) T (B) I TAT E |

() (A) T, fhg (B) T € | (d) (A) T &, foh (B) @& € |

AT o YIS STUHIH, 1956 I SR 4T &7 2

(a) 91 B AER (b)  UTHAS GO (c) T (d) & T foarg
feadt Raraa =1 e TSt i o1 2

(a) THEIE (b) =T WE (c) i e (d) IE= e

FAT favaferaner, S=idTet s T ge off, a9
(a) TII1975SH (b) |II978EH () THI9B3EH  (d) TAI1971E H
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Where the I.I.M. in Uttarakhand is situated at ?
(a) In Dehradun (b) In Pauri (c) In Haridwar (d) In Kashipur

The State Public Service Commission presents its annual report to
(a) The Chief Minister

(b) The Home Minister

(c) The Governor of the State

(d) The Chief Justice of the High Court of the State

The term of a State Chief Information Commissioner is

(a) 5 years or upto 65 years (b) 5 years or upto 70 years

(c) 6 years or upto 65 years (d) 6 years or upto 70 years

Which Article of the Indian Constitution makes provisions for the tenure of a Panchayat ?
(a) 241 (b) 242 (c) 243 (d) 244

Which Chief Minister of Uttarakhand reserved 50% seats in Panchayats for women ?

(a) Ramesh Pokhariyal “Nishank” (b) N.D. Tiwari

(c) Vijaya Bahuguna (d) B.C. Khanduri

Which of the following states had the highest per capita income during 2014-15 ?

(a) Chhattisgarh (b) Karnataka (c) Punjab (d) Uttarakhand

The maximum number of ministers, including the Chief Minister, can be appointed in the
Uttarakhand Council of Ministers is

(a 10 by 12 (¢ 11 (d 15

Which of the following countries shares the longest international boundary with India ?
(a) China (b) Nepal (c) Bangladesh (d) Pakistan
Nokrek Biosphere Reserve is located in

(a) Tamil Nadu (b) Odisha (c) Assam (d) Meghalaya
‘Shola Forest’ is associated to

(a)  South Peninsular Hills (b) West Himalayas

(c) East Himalayas (d) Tidal Forest

Which state in India is the largest producer of Copper ?

(a) Jharkhand (b) Bihar (c) Madhya Pradesh (d) Rajasthan
“Dolvi” steel plant is located in

(a) Tamil Nadu (b) Maharashtra (¢) Odisha (d) Karnataka
“Jhum Cultivation™ is also called as

(a) Dairy farming (b) Sericulture

(c) Fish culture (d)  Shifting cultivation

On which river Hirakund dam is built ?

(a) Godavari (b) Mahanadi (c) Pennar (d) Damodar
Which of the following Indian states lies partially in Himalayas and partially in plains ?
(a) Himachal Pradesh (b)  Arunachal Pradesh

(¢) Sikkim (d) Uttarakhand

In India common property resources are covered under whose ownership ?

(a) Private (b) Village (c) State (d) District

FL-2 policy is related to

(a) The forest policy of Uttarakhand

(b) The family planning policy of Uttarakhand
(¢) The liquor policy of Uttarakhand

(d) None of the above
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STRAUE § 3T, 3ME.0H, ([IM) el Ferd & 2

(a) SEEAH (b) UWEH (c) B@ERH (d) HEIRH
T A el ST 379 BTt i a1tk RUie TR T &

(a) T = (b) 7 Tl I

(c) =T & TTUTA (d) T % I=F AT & GF =TT i
T & g G ST I HREAH eIl &

(a) 599 3T¥AT 65 T I 3G TF (b) 599 31ET 70 I H Y TH
(c) 699 3TET 65 T4 H Mg TH (d) 699 31Er 70 99 H Y TH
YRATS TSI BT DI TT STTEIS Yo o BT D HT FHIAT & 2

(a) 241 (b) 242 (c) 243 (d) 244
STIRIEUE & 5T T Hl 7 el § Aieelall o for qamg uiaerd T TRfe o 2
(a) THY qrERETe “Heie” (b) TAE fqary

(c) Tasmg sgrom (d) = Tugd

ftetad =gt 5 9 o6 =g ! uideats g 2014-15 o Fatass of 2

(a) BT (b) FAREH (c) U (d) SWETE
STRIEUE T uikeg | g H Qfea sifuchan dhE 6 i o S wedr &

(@ 10 b) 12 (c) 11 (d) 15

T & @ & 91 331 R & WS qIG Aol SR T i FESRT T € 2

(a) == (b) U (c) SerssT (d) T
Tiehieh TR SaHee Tared &

(a) dHeFIgH  (b) IMifesmH (c) omAEH (d) TueEH
AT I T GaiY &

(a) SRIOT MR veTedt 9 (b) Ul fEoTeE |

(c) Yot fenrem 9@ (d) IRETTH

TR § el BT FATTHh ScAG i ST I i | & 2

(a) IRGEE (b) fw=R (c) TS (d) T
(a) dAHATEH  (b) TERTZH (c) offesmH (d) FAEHH
“Z[ G A ff T § |

(a) T SCURA (Fi) (b)  XPH-SER (FiH)

(c) HCH IR (et ) (d) TIFFR @

ERIFS dty forg A W § 2

(a) TIRTER (b) TERI (c) TR (d) IR
=1 B 9 I 1 IRA™ TS ST 9 ¥ emer T 31 w9 ¥ #eE H fee 7 0
(@ fuE@ws (b)) EE@ TR (¢) fatEA (d) SWETS
‘G Ui T 9RA 4§ fohdeh W@tHed | 21 € 2

(a) =it (b) T (c) T (d) A9
UH.UA.-2 i 1 ey &

(a) STNRIUS & o Fild & (b) ITEIUE F INER A i Aifd @
(c) STRIEUE &l IV Afqd & (d) Wi | F BIE Tl
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In which year Razia Sultan become the Ruler ?
(a) 1236 AD (b) 1240 AD (c) 1266 AD (d) 1210 AD

Who introduced the ‘Mansabdari’ system ?
(a)  Sher Shah (b) Alauddin Khalji (¢c) Aurangzeb (d) Akbar

Which of the following treaty ended the first Anglo-Maratha War ?

(a) Treaty of Surat (b) Treaty of Manglore

(c) Treaty of Salbai (d) Treaty of Amritsar

Which Governor General abolished “Thagi’ in India ?

(a)  Sir John Shore (b) Lord Wellesley

(c) Lord William Bentinck (d) Lord Mayo

In which year the Government Postal Service was introduced in India ?

(a) 1853 AD (b) 1854 AD (c) 1855 AD (d) 1856 AD
From which book our national song “Vande Matram” has been taken ?

(a) Anand Math (b) Neel Darpan (¢) Geetanjali (d) Satyarth Prakash
Who among the following had propounded the theory of ‘Drain of Wealth’ ?

(a)  Surendranath Banarjee (b) Gopal Krishna Gokhale

(c) Firoz Shah Mehta (d) Dadabhai Naoroji

What does “Tri-Ratna” indicate in Buddhism ?

(a) Truth, Non-violence, Mercy

(b) Love, Compassion, Forgiveness

(c) Buddha, Dhamma, Sangha

(d) Vinay Pitaka, Sutta Pitak, Abhidhamma Pitak

What was the original name of Begum Mumtaz Mahal ?

(a) Mehrunnisa (b) Gulbadan Bano (c¢) Raushan Aara (d) Arzumand Bano

Who was the first speaker of Lok Sabha ?
(@) Hukum Singh (b) M.A. Ayyangar (c¢) G.V.Mavalankar(d) G.M.C. Balyogi

Which Article of the Constitution of India is directly applicable on Jammu and Kashmir ?
(a) Article371 (b) Article 370 (c) Article 375 (d) Article 376

Which Amendment has been called a revision of the Constitution of India ?

(a) 40" (b) 41" (c) 42 (d) 43"
According to Dr. Ambedkar, which Article is the soul of Indian Constitution ?
(a) 29 (b) 31 (c) 32 (d) 352
Windows is an example of which of the following ?

(a) Operating System (b) Hardware

(c) Active Desktop (d) None of the above

Which of the following is an Application Software ?

(a) Compiler (b) Operating System

(c) MS-Office (d) None of the above

“ROM” is a

(a) Volatile Memory (b) Non-volatile Memory

(c) Secondary Memory (d) None of the above

Which of the following is an input device ?

(a) Plotter (b) Printer (c) Monitor (d) Scanner
What is the height of the Qutub Minar ?

(@) 100 m (b) 150 m (c) 855m (d 72.5m
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(a) WAI183TH (b) TAI84TH  (c) TAISSTH  (d) TAI86T H
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55. STTH YA Heel I HoT A T 4T 2

(a) Hes~Er (b) TS ST () I M (d) AEHR A
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61. 1= 9 =1 a1 UfteTshs™ FRe € 2

(a) HEZR (b) SARETfaEEd () UTATH IAMHE  (d) T 9 HIE T
62. W TTH

(a) droieEd Wia (b) FH-ETIREA Wia

(c) Taeirash wgfer d) TG BT
63. =19 % T feareq & 2

(a) T (b) frex (c) T (d) TR
64. ‘FIT HAR Hl SHaE foheT € 2

(a) 100 H. (b) 150 . (c) 85.5 . (d 7254
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Internet explorer is a

(a) News reader (b)  Graphing package
(c) Web browser (d) None of the above
When was Pradhan Mantri Mudra Yojana launched in India ?

(a) 8 April, 2015 (b) 15 September, 2014
(¢) 1 January, 2015 (d) 1May, 2015

What is the total budgeted amount of Pradhan Mantri Ujjwala Yojana ?
(@) 34,000 Crore (b) I5,500Crore (c¢) <I7,000Crore (d) 8,000 Crore

What is the estimated fiscal deficit of India in the Budget of 2016-17 ?

(@ 2.1% (b) 42% (©) 3.5% (d 4.8%
Which castes of Uttarakhand were included in the central list of OBC in August, 2015 ?
(a)  Aheria, Ranwaulta, Arakh (b) Kahar and Tanwar Singharia

(c) Bairagi, Goswami, Darugar (d) Banjara, Bhand, Bari

During which of the following years, India recorded lowest foodgrain productions ?
(a) 2014-15 (b)y 2013-14 (c) 2012-13 (d) 2009-10
What is the premium amount for Prime Minister Suraksha Bima Yojana (PMSBY) ?
(a) 100 per month (b) 100 per year

(c) R 12 per year (d) < 12 per month

The Indian State through which Tropic of Cancer does not pass in

(a) Gujarat (b) Odisha (c) Jharkhand (d) Tripura
What was the value of Human Development Index (HDI) for India in 2014 ?

(a) 0.538 (b) 0.570 (c) 0.609 (d) 0.666

Which of the following is a page printer that produces high quality output by forming
characters and images with tiny ink particles ?

(a) Inkjet Printer (b) Laser Printer

(c) Dot-Matrix Printer (d) None of the above

Which of the following is an antivirus software ?

(@) JAVA (b) Tally

(c) Norton (d) None of the above

Under which Act, Supreme Court was established in India by the British rule ?

(a) Regulating Act (b) Pitt’s Act

(c) 1813 Act (d) 1833 Act

Who is the author of the novel (book) “Tumhare Liye” ?

(a)  Shivani (b)  Shailesh Matiyani

(c) Manohar Shyam Joshi (d) Himanshu Joshi

23" Rajiv Gandhi Sadbhavna Award in 2016 has been given to

(a) Shabana Azmi (b)  Shubha Mudgal

(c) Shobha De (d) Medha Patkar

Which district of Uttarakhand State has its boundary with seven districts of the State ?
(a) Almora (b) Chamoli (c) Pauri (d) Bageshwar

Who is the founder of the “Narmada Bachao Andolan” ?
(@) ArunaRoy (b) Arundhati Roy (c¢) MedhaPatkar (d) Baba Amte

Which river makes a boundary between India and Nepal ?

(a) Saryu (b) Ram Ganga (c) Kali (d) Pindar
Google is a

(a) Search Engine (b) RDBMS Software

(c) Multimedia Software (d) None of the above
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TS TRIARY & Ush

(a) I UK (b) TG Tahot (c) ISR (d) T ¥ HiT T
IRA | T T GRT IS e RS & T 2

(a) 8 3We, 2015 (b) 15 fHamR, 2014 (¢) 1™, 2015  (d) 1 9%, 2015
T H SosTerel TSt sht el ST T febereit & 2

(@ T4000FT8 (b) T5500FT5  (¢) T7,000HF0s  (d) T 8,000 FE
T 2016-17 H TR 61 fo<id S1eT feheHT AT & 2

(@) 2.1% (b)  4.2% ) 3.5% (d) 4.8%

37 TUSEr STl & 5 Gall § ITREUE S fohd STl bl 7T, 2015 H @fmferd fom mn
or 2

(a) 2R {omee, 3E (b) TR AR e R

(c) SR, TRETH, SR (d) TR, oie, SR

fefatEd § § fo6d a9 IRA | QIR 6 ScaTe gAdH o7 2

(@) 2014-15 (b) 2013-14 (c) 2012-13 (d) 2009-10

T T G ST AT (PMSBY) o 3iava Mifeem ey fohat & 2
(@ T100udHEE (b) ZTlooW@ad  (¢) T 12WdadW (d) T 12vfaaeE

e YRATT T G 8rehe b YT Tal TRl & :

(2) TR (b) affeem (c) FwEvE (d P

IRA T 99 2014 | A fT6rd gaehish (HDI) 3T JH fehaT o1 2

(a) 0.538 (b) 0.570 (c) 0.609 (d) 0.666
7§ ¥ ®F U BT § S 95 & oW SRl H01 gN SR’R F SMFH SR e Jora
SIS AT & 2 . .
(a) FhIEWX (b)) TERHR (c) TRHR TR (d) T I PR T
=1 5 ¥ 3 ufearRy Qe § 2 ' .
(a) ST (b) e (c) FieA (d) =9 9 HE T
fopey St o Sfefifel WRel # Welresr =TT i T fsifee e gRT i 17 ot 2

(a) TelieT Uee (rfufTam) (b) TozH e

(c) 1813 TF (d) 1833 TH

“TRR ford ST=arg (q&deh) % TAFdT HiF € 2
(a) Toramt (b) SIS AT (c) TARX AT SHEN (d) fewiey Sen

T 2016 T 237 ST T FIHTST TS U feham T &

(a) VEET ST (b) T IS (c) IMMS (d) TT U
IIEE T % [T SIS ol HHT 5T & T ST o 9T & 2
(a) Tl (b) T\ (c) et (d) daTveR

“TURT TS — TR HT T DI & 2
(a) 3OT I (b) TEY T (c) T e (d) e e

TR 3R AT & 7T i Gt 18] HHT =7l € 2

(a) TF (b) T T (c) A (d) fo=T
TTeT & Th

(a) TI IS (b) X T.UH.UH, Tl

(c) Hiceritean diwemR (d) T 9 i T
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Which vitamin is essential for blood coagulation ?
(@ E (b) D ¢ K d C

Plants that grow in saline water are called

(a) Hydrophytes (b) Mesophytes (c) Halophytes (d) Thallophytes
“Biotechnology Institute” is situated at

(a) Almora (b) Dehradun (c)  Srinagar (d) Pantnagar
Which among the following is ‘muscle’ protein ?

(a) Myosin (b) Keratin (c) Lysozyme (d) Heme

Which of the following waves cannot be polarised ?
(a) Sound Waves (b) Radio Waves (c) Ultraviolet Rays (d) X-Rays

Rh-factor derives its name from

(a) Bat (b) Rhesus Monkey (c) Rhino (d) Rat

A satellite is used for

(a) Communication (b) Weather forecasting

(c) Agriculture and forestry (d) All the above

‘Marsh Gas’ is

(a) Methane (b) Ethane (c) Propane (d) Butane
Sequencing of ‘human genome’ was successfully done in the year

(a) 1995 AD (b)y 2001 AD (c) 2010 AD (d) 2015 AD
D.N.A. does not contain

(a) Guanine (b) Adenine (¢) Uracil (d) None of these
In 2016 which became the first European country to win Thomas Cup ?

(a) Sweden (b) Britain (c) Denmark (d) Holland
Which has become the first country in the world to ban deforestation ?

(a) Brazil (b) India (c) Kenya (d) Norway

China is looked in dispute with Philippines and Vietnam over control of which territory in
South China sea ?

(a) Natuna Islands (b) Pratas Islands

(c) Spratly Island Chain (d) Taiwan

Which State has become the first digital State of the country ?

(a) Sikkim (b) Gujarat (¢) Kerala (d) Karnataka

Who is the author of the book “Editor Unplugged : Media Magnates, Netas and Me” ?
(@) Vinod Mehta (b) S. Nihal Singh (c) Inder Malhotra (d) Kuldip Nayyar

Which film was chosen as the best film at 63™ National Film Awards festival ?

(a) Bajirao Mastani (b) Dum Laga Ke Haisa

(c) Bahubali (d) Mary Kom

‘Bharatiya Jnanpith’ award (2015) has been awarded to

(@) Raghuveer Chaudhary (b) Bhalchandra Nemade

(c) Kedarnath Singh (d) Pratibha Rai

Insulin hormone is secreted by which of the following organ ?

(a) Kidney (b) Heart (c) Liver (d) Pancreas
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TR T RN (Wha) T & I AT [FIHT e & 2

(a) 3 (b) = (c) (d)
AU STt § I oot UYY ShEeT &

(a) TREEEZE  (b) HEESH (c) eerhrezH (d)  IerhrEzE

(@) oHEIH (b)) TEEAH © om# d) dETRH
freferfiad o @ &9 91 “HEueE Wed § 2
(a) WA (b) TR (c) STy (d em

frefafad 5 & fo aOm ot ygaliha el fohat ST T 2
(a) & aar (b) eI T (c) W RO (d)  ueE-feRor

‘AT, e 19 & SEN &

(a) =SS (b) HH W (c) Trer d)
U IUUE T STANT Bl &

(a) AR (b) HIEH H i@l &q

(c) MW d a1l &g (d) IR Tt % o
AL T &

(a) T (b) (c) WA d) =

HFE S T SR AheTdIgadh (Al 74T a9
(@) WA1995T H (b) TI2001 S H  (c) TA2010H  (d) TA2015%H

ST T el I S

(a) TSHN (b) TN (c) Tae (d) T HE T
2016 | ATHH T S ST i Teoll RUF 397 7 747 2

(a) e (b) foe= (c) TH (d) @

FAT D HeTg W U TR I T BT Teetl S97 HhiT a7 747 € 2

(a)  SITSTer (b) ORA (c) > (d =@

?wﬁw%wﬁﬁm%%%ﬁ%%ﬁ@mﬁﬁw%wﬁwww
?

(a) IAET (b) WAEFT (c) TN ET J@enr (d) dreaH
I FT ST 30 T Ygell “Teiieet T 59 Tar & 2
(a) Taferm (b) TRE (c) FA (d) wFARH

“TEIEX TS ; HifeaT By, FaT] U0e W Y& 1 oiaeh i § 2
(a) foAE®edr (b)) THFREEE  (c) TR "o (d) FeRMT T2
639 2T fhed [EehR TURIE | 6 fthod & wasie fhew A1 147 2
(a) NI O (b) T TMH A (¢)  Tgeel (d wHm
‘TR [T RERR (2015) o mar &
(a) TGEAR AR A (b) WoTHx TAE B (c) FERAE e w  (d) Ui T w6
frfetad & | fora 37 gRT ST &TH Bferd &ial & 2
(@) T (b) &= (c) % (d) =T
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PART -11
GENERAL APTITUDE TEST

Eight children take part in a tournament. Each one has to play every other one. How many
games must they play ?
(a) 56 (b) 28 (c) 80 (d 112

A hall had 500 seats initially. After reconstruction, the total number of seats became 10%
less, the number of rows were reduced by 5, but the number of seats in each row was

increased by 5. How many rows and how many seats in a row were there initially in the
hall ?

(a) 20 rows, 25 seats (b) 50 rows, 10 seats

(¢) 10 rows, 50 seats (d) None of these

The difference of 10% — 7 and 10%* + x is divisible by 3 for x = ?

(@ 7 (b) 4 () 3 (d 2

The sum of first 23 odd numbers will be

(a) 276 (b) 529 (c) 1081 (d) None of these

A group of 1200 persons consisting of captains and soldiers is travelling in a train. For
every 15 soldiers there is one captain. The number of captains in the group is
(@ 70 (b) 80 () 75 (d) 85

Two ladies and two men are playing cards and are seated at North, East, South and West
of a table. No lady is facing East, persons sitting opposite to each other are not the same
sex. One man is facing South, which directions are the ladies facing ?

(a) Eastand West (b) South and East (¢) North and West (d) North and East
A, B, C, D, E & F are six members of a family. One couple has parents and their children
in the family. A is the son of C and E is the daughter of A. D is the daughter of F who is
mother of E. Who are the male members in the family ?

(@) AandC (b) AandD

(c) AandB (d) Cannot be determined
Which number will replace (?) in the following sequence ?

4,23,60, 121, 7

(a) 212 (b) 242 (c) 221 (d) 241

Rahul says “If Vijay gives me ¥ 40, he will have half as much as Atul, but if Atul gives
me T 40, then the three of us will have the same amount.” What is the total amount of
money that Rahul, Vijay and Atul have ?

(a) 240 (b) 280 (c) %360 (d) 420

A rope by which a cow is tethered is increased from 12 m to 23 m. How much additional
ground has it to graze over ?

(@) 363.17m?> (b) 385m? () 1210 m? (d) 1650 m?

Mohini went to the movie nine days ago. She goes to the movies only on Wednesday,
what day of the week is today ?

(a) Tuesday (b) Friday (c) Saturday (d) Monday

How many triangles are there in the following figure ?

@ 9 (b) 10 © 12 (d) None of these
10% of 10% of 50% of 1000 is
(@ 5 (b) 10 (c) 50 (d 100

Series-A 14 SRA


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

T -11
AT Ffeg TR0
101. 37/ 5= Ueh TATHS | AT ol € | U Sl &Y Ueh & W12 WA € | SR Fod fehe 719 Tt 2
(a) 56 (b) 28 (c) 80 (d 112

102. 3™ H T a1 § 500 Hie off, T % % Wl Hl Fol G&T 10% FF & T8 | uiokaar bl
@& 5 FF & T, W Tcdh Uiekd H Gt bl T 5 § T & TE | IRTT H gt | fohaT ufeRtat o

T O § fehal die of 2
(a) 20 Ufear, 25 Fie (b) 50 TfRTET, 10 T
(c) 10 ufeRat, 50 | (d) T T FHIE Tl
103. 1025 — 7 @1 10?4 + x 1 3= 3 ¥ fauriorg erm afg x = 2
(@ 7 (b) 4 c 3 d 2
104. Yo 23 faum TEA1eT &1 AT B
(@) 276 (b) 529 (c) 1081 (d) T T HE TEl

105. 1200 =afwrT 1 Uk Gg 99 hed o el €, <7 § a6 & W© § | 5w 15 fauted w
FeT T | THE T Hed S G B
(a 70 (b) 80 (c) 75 (d 85

106. = AfEeTd o 3 T6T AT TeA W &, AR I AT B 7R, Y, IR0 o U¥eH B AR 9§ | fodt o
HigeT 1 7@ Ye i 31X Fél & | o Ao S Uoh-gi & TH 9 &, T o7 o 761 € | 0 gou
1 @ 30T I 3R & | Aigoma = 9 6 feemsti § € 2
(a) g@auvEg (b) IROTFUE (c) SRIUFTH  (d) SWIE

107. A, B, C, D, E 3R F U URAR & ©: & & | UNGR H TFH A o AA-ar 9 376 a<d € |
A CHUIEHAE AR T I D, FH T, S HE A A & | IRAIR T 5T F&& i ¢ 2

(@ AdC (b) ATD (c) ATB (d) T & H FqHA |
108. T=fAEd 3T § (7) & I T HiF T G 3 2

4,23, 60, 121, ?

(a) 212 (b) 242 (c) 221 (d) 241

109. g 7 e, “Afs fa Fet T 40 ST €, A U U 3T T 9 Y TUT &, oAk ATS 37l T8
% 40 IATE, A1 &9 T o I T T RN 1 TG, Foetd 31T 3Tet o U el fehal SRR € 2

(@) 240 (b) T280 (c) 360 (d) T420

110. T T EQ UH MF G G T4 E, B 12 W T 23 =L H KA T | T HE TR & faw
3R Tt STTe e 2
(@ 363.17#2 (b) 385H2 (c) 121072 (d) 165072

111. ﬁ%ﬁi%ﬁ? TEe! TEITEs SEH e | I Folras SEH el JHAR i S § | 37T TlE 6 HiE
i} ?
(a) TR (b) AR (c) WFER (d) TR

112. F=fefad fosr & o gt & 2

(@ 9 ®) 10 © 12 (d) T 9 T T
113. 1000 =T 50% 7 10% 1 10% &
(@ 5 ®) 10 (©) 50 (@ 100
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If the integers 1 to 50 are multiplied, then total number of ‘zeroes’ in the product will be
(@ 5 (b) 50 (c) 10 d 12

The diameter of a cycle wheel is 28 cm. How many revolutions will it make in moving
13.2km ?
(a) 13000 (b) 15000 (c) 17000 (d) 19000

In a group of equal number of cows and herdsman, the number of legs was 28 less than
four times the number of heads. The number of herdsman was
(a) 14 (b) 28 (c) 17 (d 15

Two numbers are in the ratio of 3:5. If nine is subtracted from the numbers the ratio
becomes 12:23. The numbers are
(a) 30,50 (b) 42,70 (¢c) 36,60 (d 33,55

At present Soni is 4 times older than her son and is 3 years older than her husband. After
3 years the age of her son will be 15 years. The age of Soni’s husband after 5 years will be
(a) 48 (b) 45 (c) 50 (d) 42

Based on the statements given below, find out who is the uncle of ‘P’.

L K is the brother of J. II. M is the sister of K.

III. P is the brother of N. IV. N is the daughter of J.

(@ K () J

(¢ N (d) Cannot be determined

Which number is wrong in the following series ?
42,110, 132, 210, 440, 506
(@ 42 (b)y 132 (c) 440 (d) 506

In the following figure, ‘B’ represents businessmen, R represents rich men, and H
represents honest men. Which number will represent rich businessmen ?

B 3 -
D> s

(@ 5 (b) 3 () 2 d 4

Which of the following does not belong to measure of central tendency ?
Mean Deviation, Arithmetic Mean, Median, Mode

(a) Mean Deviation (b)  Arithmetic Mean

(c) Median (d) Mode

The algebraic sum of the deviations from the mean of any set of data is always
(a) Positive (b) Infinite (c) Zero (d) Negative

The simple interest of a sum of money is equal to the half of the principal and the rate of
interest is equal to half of the number of years. Find the number of years.
(a 6 (b) 10 (c) 7 d 8

If the cost of five pencils and two copies is ¥ 225 and the cost of three copies and four
pencils is T 320, then what is the cost of one pencil ?
(@ %5 (b)y %6 (c) %4 d 37
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gfs 1 | 50 T % qUITRT I O AT ST, & 0SS | YR el ST gt

(@ 5 (b) 50 () 10 (d 12
Teh QrEfehel o feW ol oI 28 4.H). € | 13.2 fm . =™ 9 g% fohda =remne ermmartt 2
(@) 13000 (b) 15000 (c) 17000 (d) 19000

AT G H T 3T 66l % U 9He § R i T fai @l den % 9w A ¥ 28 9 ot |
AT ht T o

(a) 14 (b) 28 © 17 @ 15

ST AT 3:5 % ST W E | SN A B I Wemed ¥ § Hey @A A, A A 12:23 # A
&, T T g

(a) 30,50 (b) 42,70 (c) 36,60 (d) 33,55

FIGH H T 39 9 F IR T S § AT 0 ud & 3 99 qEl ¢ | A 99 % A% 39b 9 B
311 15 9TeT & e, a Gt o ofd i 31g 5 a9 o1% fohat et ?

(a) 48 (b) 45 (c) 50 (d) 42
T 13U T el o STUR W I8 1 i 19 ‘P’ o1 9=l i & |
L KI®aEe |

. MK&HTIT |
M. PN®IHEEY |

IV. NJ®RITT

(@ K (b)) J

(c) N (d) Fe=p T FehTeT ST HehT |
fr=ifera ol & S d G o € 2

42, 110, 132, 210, 440, 506

(a) 42 (b) 132 (c) 440 @ 506

I U 7 o7 4, B ORI SMEEAT B, R YT STREAT Bl 99T H SHFSR AT Sl U
AT & | i Gl G 9 AR ST i TSI Hm 2

B 3 -
D> G

(@ 5 (b) 3 () 2 d 4

fefeiad & & M S=1a Ughd s 919 § &l 27 2

(a) wEEfgged (b)) HHWR AT (c) e (d) =g
fepeel ot @fiehel o e I 371k H1eA W foreerl ot SIS FNT S8 8ial &
(a) GATHSD (b) I o0 IX (d) FRUTHD

g Tl 9 T HTEIROT S1ST Yote ST 31T & 9T AT 8% 997 ol ST i 3Tel &, off adf
@& 1 HIT |

(a) 6 (b) 10 ) 7 d 8

I Ut UTaet e <1 ittt 1 god T 225 € AR A1 Pl a9 IR Uidelt B 9o 3 320 €,
Teh UTHeA 1 HiTd T € 2

(@ T35 b T6 ) T4 d T7
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Insert the missing number in the following :

13 (70) 22

12 (60) 18

17 (?7) 26

(a) 76 (b) 96 (c) 116 (d) 86

In the following question, except one, all are alike in a certain way. Select the pair which
is different from others.

Babar : Mughal

Kanishka : Kushan

Mahavira : Jainism

Chandragupta : Maurya

(a) Chandragupta : Maurya (b) Kanishka : Kushan

(c) Mahavira : Jainism (d) Babar: Mughal

In a class there are 35 students comprising of boys and girls. In a monthly test, the average
score of the class was 18. The average score of girls and boys of the class was 22 and 15
respectively. Assuming that all the students appeared in the test, what is the number of
boys in the class ?

(a 18 (b) 15 (c) 17 (d 20

Sohan bought some books one day, four times of them on the next day and eight books on
the third day. In all, he bought 38 books. How many books did he buy the second day ?

(a) 24 (b) 6 (c) 8 (d 16

There are five buses from Nainital to Dehradun and same number of buses from Dehradun
to Nainital. If a man does not want to return to Nainital by the bus in which he went to

Dehradun, in how many ways to and from journey can be performed between Nainital and
Dehradun ?

(a) 24 (b) 20 (c) 16 d 12

Find the missing term in the following series :
B23Y,E17V,H115, ...

(a9 K7P (b) K5P (c) L8Q d MOR
Which of the following numbers is completely divisible by 45 ?

(a) 181560 (b) 331145 (c) 202860 (d) 3033550
The sum of the interior angles of a regular polygon of 15 sides is

(a) 2340° (b) 1800° (c) 2520° (d) 2160°

A train of length 135 metre is running with a speed of 49 km/hr. In what time it will pass a
man who is walking at 5 km/hr in the direction opposite to that of the train ?

(@) 10 sec (b) 9 sec (c) Ssec (d) None of these

Three numbers are in the ratio 3:4:6 and their product is 1944. The largest of these
numbers is

(a 06 (b) 12 (c) 18 (d 20

If n(A U B) =5, n(B) =3 and n(A) =4, then n(A N B) is equal to

(a) 2 () 3 (c) 4 (d 5

The illumination from a source of light varies inversely as the square of the distance. If
initially a book is placed at 10 cm far from a candle, then how much farther a book be
placed so as to receive just half as much light ?

@ 10(\/2+1)cm () 10(\/2-1) cm
@© 10(/3+1)cm @ 5H2+1)em
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Fre=feiad e aag o foee g sifhd i

13 (70) 22

12 (60) 18

17 () 26

(a) 76 (b) 96 (c) 116 (d) 86

fefetEd vee ®, U % 37etren T, Uoh i & T € | ST I8 B g, ST o= J T 7 |
e JITeT

T : FUTOT

A ; S=ed

WI‘H:H‘\I&

(a) T :HE  (b) HES:PFUOT () TEER:SHEH  (d)  aeR : g

T FRT B ASh 3R Teihar ey Fot 35 Tt € | ush s wiem o g el &1 3fid
AT 18 o7 | TSRl T TTEehl o VTWiehi ST ST ShHT: 22 T 15 o7 | afg qudt fommelt 39
TRIeT § [HATeTd U &, af 39 T H TTSehi i G 1 ¢ 2

(a) 18 (b) 15 ©) 17 @ 20

e T 159 $3 Tk BRI €, 37Tl fo 3el IR TAT a1 a5 8 Jaer @iean € | g
3T Tt AR 38 Y& GRIal, af SA 3EY o feheT ek @RigT 2

(a) 24 (b) 6 ) 8 @ 16

et ¥ SegH ST o T Ut a9 SueTed & Y AT @l 99 Sedgd @ S & fere § 1 3
TS STEH IH a9 | ATl a9 Fel ST =edl & MEd 98 9835 T €, a A= 3 805
% S W foher aiiehl & S-S st I ol ST el & 2

(a) 24 (b) 20 (c) 16 (d 12
Te=ifeRe Srolt =1 oot ug ST whifsTy

B23Y,E17V,H11S, ......

(@ K7P (b) KS5P (c) L8Q d MI9R
frfefad & #iF O T 45 9 qora: i € 2

(a) 181560 (b) 331145 (c) 202860 (d) 3033550
15 sISTT3Tt At Ueh Fafad gyt & ST vl & AT &

(a) 2340° (b) 1800° (c) 2520° (d) 2160°

T 135 HieT ol Iommel 49 fohdi/Ee i =t | ot W@l & | U e St o 5 fom i /e o
1T I TS i faurid fS9m o =et ¥eT &, i Jonme! fha 0 § IR o o 2

(a) 10 U (b) 9 TFHET (c) 5uHhe (d) T T HiE T
T G 3:4:6 % U § & 3R STH OGS 1944 € | T70 & T el G=A ¢

(a) 06 b) 12 () 18 @ 20

T n(A UB) =5, n(B) =3 3T n(A) =4, 9 n(A N B) H A &

(@ 2 (b) 3 (c) 4 @ 5

TS TR BT T U & STt J9T STY T F I & SFhHMI € | S TReT § U Hiee
TEIH I 10 THT T & &, A1 3T Tt 5T 3T T Afen alieh Ueet § i el A9 W & 2

@) 10Q/2+1) 94 (b) 102 — 1) @t
© 10/3 + 1) 4= d 5@[2+1)@H

19 Series-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

138.

139.

140.

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

247

f5@6=61and8 @ 10=164,then7 @ 9 =7
(@ 125 (b) 63 (c) 130 d 32

Look at this series :

80, 10, 70, 15, 60, .....

What number should come next ?

(@ 20 (b) 25 (c) 30 (d 50

In how many ways, a group of 3 boys and 2 girls can be formed out of the total of 4 boys
and 4 girls ?

(@ 15 (b) 16 (c) 20 d) 24

Four mat weavers can weave 4 mats in 4 days. At the same rate, how many mats would be

woven by 8 mat weavers in 8 days ?
(a) 4 (b) 8 (c) 12 (d 16
If white is called blue, blue is called red, red is called yellow, yellow is called green, green

is called black, black is called violet and violet is called orange, what would be the colour
of human blood ?

(a) Red (b) Green (c) Yellow (d) Violet

Pointing to a gentleman, Shalini said, “His only brother is the father of my son’s father”.
How is the gentleman related to Shalini ?

(a) Grandfather (b) Uncle (c) Brother (d) None of these

A year is starting with Monday and ending with Tuesday. How many days are there from
16" January to 15™ March in that year ?

(a) 58 (b) 60 (¢ 59 (d) 61

Three years ago, the difference in the ages of two brothers was two years. The sum of
their present ages will be double in 10 years. What is the present age of the elder brother ?
(a 6 (b) 11 (c) 7 @ 9

A cyclist rides 20 km to the East, then turns North and rides 20 km, again turns left and

rides 20 km. How far he is from the starting point ?
(@) Okm (b) 10 km (¢) 20km (d) 30km

Which is greatest in the following ?
\J0.1,3/0.1,3/0.1, }/0.1
(@ 01 ® o1 © o1 @ o1

What is the remainder when 2*! is divided by 7 ?

(@ 4 (b) 2

(c) 6 (d) None of the above

When seen through a mirror, a clock shows 8:30, the correct time is

(a) 2:30 (b) 3:30 (c) 8:30 (d) 5:30

In a certain language, ‘MADRAS’ is coded as NBESBT, how is ‘BOMBAY’ coded in
that language ?

(a DPNCBX (b) CPNCBZ (c) CPNCBY (d) DPNCBZ
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IAT5@6=61 A8 @ 10=164, A7 @ 9 =72

(@) 125 (b) 63 (¢) 130 @ 32
TG ST Bl ST

80, 10, 70, 15, 60, ...

AT T [T BT e 2

(@ 20 (b) 25 © 30 d 50

FoT 4 TASH 3T 4 ASTHA H ¥ 3 TISHT 3 2 TASHAT o THE P (o aieni & T fopa ST
T & 2

@ 15 (b) 16 (© 20 d 24
AR T G A 4 FoT 7 4 3 G €, S WA F 8 T G A 8 T A H oAt & g 2
@ 4 (b) 8 © 12 @ 16

TR T ST &, Al I G T T 4 e 2

(a) @™ (b) & (c) dem (d) S

T Fo I 3R TR A g LT el “Teh sehelld s W ad & uan & o & 1 @
TooT et & HY g & 2

(a) I (b) =T (c) Wi (d) T Q FE TR
T 6T WHAR § I Al € 3R HedR &l T aidl € | 39 91 | 16 et § 15 979 a%
T o1 &t 2

(a) 58 (b) 60 (c) 59 (d 61

T a9 g3, I AT HT S H & a6 B SRR AT | IAH! I H IH FH AN H a9 § AT
ETT | S TS i SIH SH 7§ ?

(a) 6 (b) 11 (c) 7 @ 9

TS TrEfehet QAR 9d &t 3R 20 fomH. S &, T 392 &1 gedr & 317 20 foa, S &, e o
3R g ST & 3R 20 FRH, a1 & | I8 SR fog | T X & 2

(a) 0. (b) 10 fH. (c) 20 T (d) 30 fm.
f=feiad § @ g8 sifishay i & 9

\J0.1,3/0.1,3/0.1, 301

(@ 01 b 01 © o1 @ Ao

241 7 F AT 39 W NI T BN 2

(a) 4 b)) 2 (c) 6 (d) T F B T
TYUT § <@ U Uk HEl § §HY 8:30 U AT, Tel 99 &

(a) 2:30 (b) 3:30 ) 8:30 d 5:30

frdt 9T § ‘MADRAS’ I NBESBT i€ {31 ST €, o 3& 9T § ‘BOMBAY’® &l =1
e fopar st 2
(a) DPNCBX (b) CPNCBZ (c) CPNCBY (d) DPNCBZ

21 Series-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Space For Rough Work / & &1 & fo1u wrg

Series-A 22 SRA


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Space For Rough Work / & &1 & fo1u wrg

SRA 23 Series-A


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page


